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1. &% G AR S 1x8=8

Choose the correct answer :
(@) 61 SR < TSI TA
The probability of an impossible event is
(i) 1
(i) O.

-
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(2)

(c)

Statistical definition of

robabili
given by probability was

P ’

) 4. TS
A. Maifl{ov
Thomas Bayes
@) SR
Cvon'Mises ¢
(@) s
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(3)

(d) it X <51 AG0RE o W, (T E (eF) T

If X is a random variable, then E (e%) is
known as

(i) iz eremp
mathematical expectation
(i) GfF-&7F T
moment-generating function
(iii) TSIREI-EF Tl
probability-generating function

(iv) SRR BRI
All of the above

() ~RR ST < SR (TR
The hypothesis under test is

(i) = A
simple hypothesis

(ii) s o4 N
alternative hypothesis
(iii) 9@ 4 .
aull hypothesis

(iv) € B8 T
None of the above
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(4)

‘Zt:%d t.% TR ZT g
enj: S ttest is applicable only when
() RS e yog =g
ﬂl .
. € variate values are independent
. .
) VTR 2B 355 sy 5

the varighle ;
variable is distributeq normally
CIE SRR

th
€ sample jg not large

(il)) ‘SWW ;

All of the above

q"ﬁ2x2m
Th P TG W 7'

€ degreeg
. - of
contmgency table ?;eedom for a 2x2

) 3
@ 1
i) 4
(iv) Aggm aBre -
None of the aboye

{ Continued )

(5)

(h) PR R R 5o PR

The term analysis of variance was
introduced by

(i) 9. . R
R. A. Fisher
(i) AT
Kolmogorov
(iti) TE-TIFS
Gauss-Markov
(iv) €7 JETS =
None of them

2. oS fim oA o - ox8=16

Answer the following questions :
(a) TR CL@ o R e |
Define random experiment  with

examples.

mﬁ@ﬁwmﬁmvﬁmww.

approach  to

()

o T T faam o
Define probability density function.

oi15e1 ¥ oifrpefed &S opefay TrEd ¥
Distinguish between parameter and

statistic-

(c)

(d)
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ig) (7)
(e) el
D A e w2{T/ Or
efine the level of significanc
- (b) Sz oS Rt W SR e o
(N  t-=rr s fran) offed BT T iz, S
SRR ; et 357
What are the ag ) Wlkﬂﬁﬁﬁﬂﬂmwm q
t-test? sumptions made in 2'q
Define discrete and continuous random
@ C@W@W%% variables with examples. State the
What 4 T properties of continuous distribution
0 you unders : dom variable X has the
i tan ) function. A ram
s ey Yates illowing probability distribution :
(h) 2R Ry 4 | 5 | 6 7
W Sy
What are the PR 6 5 9 ok | k2 | 72 | 22 -k
analysis of vanaii&:;mphons made in
pm<apmxzﬂf@<x<$
3.

(a) %‘ﬂﬂcﬁ E’TCE w‘f m ﬁ‘fﬂ 41 | 4+3+4=11
zm "Wﬁw@m AR CFH:IW TG o A Find the value of k and evaluate
@TWWR% f‘%‘ Sits 53 B p(X <6), P(X 26, PR<X<3)

: ARG oy g A1 T A
efine o ks ’C_\‘FCGC‘HW@ 4. (a) WWWWWWW
e;ents With ey e independent ' speeay fin 1 e 2 g Ff T T
¢ g 3
rana(lilce that ?gf;les. What is the B ?Wﬁ"“' 3+3+3=9
om wyj y :
and 4 Contain 5?? selected at Define mathematical €X pectation dfor
ar u i us ranaom
events then eSh a mUtuaul;dagi; It _Al discrete dd t;zn:rlf:;g of binomial
ow us . i
P(A, 4;) that ve varlablez Ifu;tate the characteristics of
21=P istribution )
24P/1197 (4)) + P(A,) d4aza~y1 i;rmal gistribution-

( Turn Over )
( Continued ) 24P/1197




(8) |
| (9)
) ﬁ%wﬁ%ﬁwwwor |
S e T | () et REEH A
M1 I o %lF‘?IWW | SfAe VYR UGS et 40|
3ty R O o Tomfq opiefay Srad | Describe the mathematical model for
D ARl W 2R o RSy | OVA testng in one-way classification;
SQeﬁne Chi-g S 4P | stating clearl th assumption involved
Dme apph quare di . 2+2+2+3=9 I W
istingyigy, Cations stribution. S . 6. (@ o TR oo 1000 e 2000 4
sam b of lon.  State = 3k ST 68 2 | AT Reer 25
ple, By oo oWE F-distributi | A 679
wi + LXplaj €n ributi ‘\

5 . e"am]iam o 1 Population nd oty A affoe{ T =g
TR Ry 3 and type 1 errors 1 The means of two 1arge smnp%es of 1000
Answer o Ty R \ 4 2000 nembers ar€ 67-5 inches an
(a) Y two ¢ : 68 inches Can the sam les be regarded

GHIEI %R f the follows 8x2=16 | as drawn from same population of

iy g 1‘.@1 %fmmng 2:5 inches?

B ey o (R T4 Ry . wedl/ Or

QW% 2{% el ,

E ey A | ST J ) ﬁﬁwﬁrSEW$7ﬁnaa<vﬁxamaefﬁ
sﬁgﬁ?n th TRISCT foret | | A (T A

dlstnll_’canc Procedyre 5+3=8 ! TwWO independent samples of 8 and 7
arge :tio 3 me 21; testing the 5 items respectively had the following
proCedu&:_m e C;SSe of two g a normal !

L comelatloe ®). State 1flhn'lples (for !
) ke Eann COefficie ]:t Sigﬂiﬁc:n testing
SRy ; ce of
ey :j} 53 &9 Bl e
Ers

What Rt % ;FE © T

Chi_g... “ategori | o i oiforeefa TS
aSsoc?;ltioe g()l;lc?l s B 24+6=8 mto 05,13 = -16)

24P/1197 n betweei used tOScuss how 1s the djfference be .en the mean:s of
tWo attrip test the the ample sigmﬁcant? (Given
Utes, _216)
to.0513 ,
( Turm Over )
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(11 )

( 10 )
7. @R R @y rl-aﬁ Teq el - From the adult male population of four
Answer any tw J 7x2=14 large cities, random sample of sizes
0 of the following : given below were taken and the number
(@) 9B G oifs of married and single men recorded.
Ao OIS Sxisze Fqr 10 SEIPI Can we say that the proportion of
f%@“ s%gﬁ;@_@mh@a@ fm wﬁ e married men is same in all the four
ities?
T R v @ RoRE e
B g '@goﬁf.,icf = 7
WO judge R | 7o A B C D 7
Competitorg sthohave ranked the 10 City Total
? se
Competition 54 fon::i,ls attend a beauty \ R 137 164 152 147 600
o T e | | Married
& a5l T3 10 | | | oRaRe | 32 57 56 35 180
T‘----.______________ Single
(L2 OT ST o e ol & - 169 | 221 208 182 | 780
QQ\J Total
Test wheth T —— _,.J —
be €r th
noiWeen the Ojufi raz}k correlation (c) 51 fofiet &ifeRIe SfbT T b T e
at 5% leye of Siges. IS significant or < faefs 7 Reifiee & BT B IS 2!
(%WRO,O Enificance. o Proerd R @G S T |
(Given g, 510 =0-5515) W%ﬁmmvﬂwm CafoTa =i
(b) F0T0-551 | o B I T TR T SR
Bﬁﬂ?{ ) ’
W%i:; TR e R FNRAL
£ B affﬁ',m PR g | A manufacturing compan:,_f has
Ry Gl REIR 39 &Tﬁ@ S Ao | urchased three new ma(.:hmes .
N RC IR i s ol zjfferent makes and w1s}?es to
SR ¥ v Rk W | termine whether 07¢ of them is faster
. e - i
Wi% W | 7 1 f]:a_‘[’l the otherS in prodllClng a certain
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. s
output. Five hourly production figureh
are observed at random from eac

machine and the res
following table -

ults are given in the

@M A, @y A, a5 As
Machine 4/ | Machine A, | Machine A3
R
-_-_-_——___—
25 31 24
30 30
fAqr 89
36 38 28
Observations
38 49 25
ot 31 35 28
%_—_______/
Wqﬁmq?mﬁﬁﬁﬁw @ oA
@VR TG 9% g SRS of1efpy oCR |
(ﬁm) 212 =3-89, 59, wetqrer w7
qE

speeds. (Given g

e 2,12 =3-89 at 5% level
of Slgmﬁcance)

ke A
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